Efficiency vs dr

0.2

I

.| —— DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom

111 A ||
—s— DQM_original_step?2_1 -phasel-newgeom
—— DQM_pixelCPETemplateCutChiSquare5_step2_ttbar-phasel-newgeom

[[TH] NIFIRS H "'fl:; WII:'!" III .
AR

1073 1072 107 1
TP min AR

[ Efficiency vs dr (track,jet) |
.§0.05
d).045
)
©
<l0.04
9.035
>
20.03
2
35=@.025
3]
0.02
0.015
0.0
0.005

[y

107 1072 107
AR(TP, jet)

................................................

60 80 100 120 140
Pileup



	Contents
	Page 1


